
 
 

686 14e Avenue La Guadeloupe Qc G0M 1G0   

Tél : 418-221-3028, E-mail : hangar116@hotmail.com  

www.hangar116.com 

 

Guide d’installation support de plaque d’immatriculation + clignotant pour FTR 1200 

(FTR-LI-PL18) 

 

  PIÈCES   

Réf.  # Numéro  Description  QTé  

1 FTR-LI-PL1 Support de plaque d’immatriculation 1 

2 FTR-LI-CTR1 Support central clignotant 1 

3 FTR-LI-BR-FR-R Support châssis droit 1 

4 FTR-LI-BR-FR-L Support châssis gauche 1 

5 M6U-12669 Écrou U 4 

6 SSBSCSM-6-20 Douille bouton 6mm x 20mm inox 4 

7 SSBSCSM-8-20 Capuchon douille bouton inox 8mm x 20mm 4 

8 SSBSCSM-6-12 Capuchon douille bouton 6mm x 12mm acier inox 8 

9 SSASFH-6-12 Douille plate inox 6mm x 12mm 1 

10 MFN-6 Serrure à bride métrique dentelée 7 
  

Outils nécessaires : clé allen 4 et 5mm + clé 10mm 

Installation :  

Retirer complètement l’aile arrière, les clignotants et la lumière de plaque 

d’immatriculation. Repositionner le fil du clignotant sur le long du châssis pour ressortir 

près de la lumière arrière. Fixer les 2 supports fournis dans l’ensemble sur le châssis 

du FTR (6e photo) avec les 4 vis (SSBSCSM-8-20). Installer les clignotants et la lumière 

de plaque d’immatriculation sur le nouveau support de la même manière qu’il était 

installé à l’origine sur la moto et avec les mêmes vis (photos 1-2-3-4-5). Assembler en 

place avec les vis (SSBSCSM-6-20) dans les 2 supports précédemment installés sur le 

châssis et reconnecter le fil du clignotant.  

 

 

 



 
 

686 14e Avenue La Guadeloupe Qc G0M 1G0   

Tél : 418-221-3028, E-mail : hangar116@hotmail.com  

www.hangar116.com 

 

 

 

 

 

  

 

 

 

 



 
 

686 14e Avenue La Guadeloupe Qc G0M 1G0   

Tél : 418-221-3028, E-mail : hangar116@hotmail.com  

www.hangar116.com 

 

Installation guide plate licence bracket + flasher (FTR-LI-PL18)  

 

 Parts   

Ref # PARTS NUMBER DESCRIPTION QTY 

1 FTR-LI-PL1 Plate licence bracket 1 

2 FTR-LI-CTR1 Turn signals central support 1 

3 FTR-LI-BR-FR-R Right frame mounting bracket 1 

4 FTR-LI-BR-FR-L Left frame mounting bracket 1 

5 M6U-12669 U-nut 4 

6 SSBSCSM-6-20 Button socket 6mm x 20mm stainless 4 

7 SSBSCSM-8-20 Button socket cap stainless 8mm x 20mm 4 

8 SSBSCSM-6-12 Button socket cap 6mm x 12mm stainless 
steel 

8 

9 SSASFH-6-12 Flat stainless socket 6mm x 12mm 1 

10 MFN-6 Metric flange lock serrated 7 

 

Needed tools: allen wrench 4 et 5mm + 10mm wrench 

Installation: 

Remove the rear fender, turn signals and license plate light completely. Reposition the turn 

signal wire along the chassis to come out near the rear light. Fix the 2 supports provided in 

the kit to the FTR chassis (6th picture) with the 4 screws (SSBSCSM-8-20). Install the turn 

signals and the license plate light on the new bracket the same way it was originally installed 

on the motorcycle using the same screws (pictures 1-2-3-4-5). Assemble the whole, put it in 

place with the screws (SSBSCSM-6-20) in the 2 brackets previously installed on the frame 

and reconnect the turn signal wire. 

 

 

 

 

 

 

 



 
 

686 14e Avenue La Guadeloupe Qc G0M 1G0   

Tél : 418-221-3028, E-mail : hangar116@hotmail.com  

www.hangar116.com 

 

   

 

 

 

 

  

 

 


